
Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1102_s / 1

a 57.2 + 14.74 =

b 40.06 + 1.98 =

c 735.9 + 530.8 =

d 790.4 + 223.6 =

71.94

42.04

1266.7

1014



Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1102_s / 2

a 96.7 + 748.3 =

b 43.54 + 79.5 =

c 710.6 + 8.96 =

d 632.03 + 52.58 =

845

123.04

719.56

684.61



Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1102_s / 3

a 752.1 + 64.9 =

b 645.8 + 14.28 =

c 237 + 90.64 =

d 86.7 + 9.81 =

817

660.08

327.64

96.51



Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1102_s / 4

a 83.09 + 170.2 =

b 148.4 + 54.6 =

c 91 + 553.4 =

d 64.93 + 37.87 =

253.29

203

644.4

102.8


